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[ Que.

Questions & their objectives

Answer given

| No by Candidate
i 1 A dentin ‘Primer’?

{ A) etches the dentin B
' B) it increases the surface energy and wets the dentin
i surface
| C) removes the smear layer
l D) conditions the dentin
2 The hard carious dentin is removed with --------
é A) excavator B) bur at low speed C
: C) bur at high speed D) none of the above B
'!E’) _ Sterilization of hand piece will cause
i A) rust of hand piece B) turbine wear C
| C) fibre loss D) loss of torque
;r4 Access cavity shape in mandibular 1st molar with 4 canals
s A
i A) trapezoidal B)round C) oval D) triang ularl
|
‘l 5 Endosonics utilizes which instrument?
: A) H file B) K file C) endo box D) reamers B
i
[r 6 The normal PH of saliva is about
A) 5.5 B)9.5 C)7.5 D)8.5 C
{_? B The average life of silicate cement restoration is
’ A) 2 years B) 4 years B
1| C) 6 years D) 8 years

8 The principle of autoclave is
A) moist heat B) dry heat D
| C) boiling D) moist heat under pressure
L
9 Normal consistency of gingiva is

,___._._
|

A) soft B) hard C) firm D)firm & leathery
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10 Glass infiltrated alumina core ceramic is
A) dicor B) inceram C)captek D)IPS-empress B
11 Crack tooth syndrome is diagnosed by
A)Trans-illumination B) dyes C
C) applying pressure on tooth D) none of above
12 The chief advantage of Zinc phosphate cement is its
A) good compressive strength B) film thickness B
C) lack of irritability D) low solubility
13 Sublingual gland is a
A) mixed gland B) serous gland A
C) mucous gland D) present in root of tongue
14 Ketoconazole is o
A) anti-fungal agent B) anti-bacterial agent A
C) anti-viral agent D) chemotherapeutic agent
15 Calcified tissue is absent in -
A) enamel B) dentin D
C) cementum D) pulp
16 Which is main constituent of porcelain? A o
A) feldspar B) kaolin C) quartz D) clay
17 Organ locomotion by bacteria is _
A) fimbria B) flagella B
C) capsule D) cell wall
18 | A butt jointis a o7

A) 9009 joint
C) 700 joint

B) 1200 joint
D) 1800 joint
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19

Most common age for gingivitis in children is
A) 1-3 yrs B) 11-13 yrs
C) 6-7 yrs D) 2-7 yrs

C

20

Examination of mouth of a patient with HIV/ AIDS may
commonly reveal
A) marcoglossia B) periodontal diseases

C) loss of sensation of taste D) red tongue

22

1i.!-‘w'Hich of the following is least mineralized
A) cementoid

B) incremental line

C) cellular cementum

D) acellular cementum

Tetracycline in children causes
A) calcification B) missing teeth
C) discolored teeth D) peg teeth

23

How many roots does a primary maxillary first molar have
A) 1 B) 2 C)3 D) 4

Lugols solution is for
A) plaque

B) keratinized gingiva
C) attached gingiva

D) none

Stippling is absent in
A) infants only B) older men
C) children D) both infants and old




